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The Iigures ln the margln lndlcolte
full manlcs for the questlons.

Answer o,ll the questions.

1. (a) What is contour ? Explain the
characteristics of contours. 10

(b) The following bearings were observed
with a compass: 10

Line F.B. B.B.
AB 74"O', 25500'

BC 9Lo0' 27O"O'.

CD 164"0' 34200'

DE L77"O', 000'

EA 18900' 900'

Where do you suspect the local attraction ?
Find the corrected bearings.
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(?)

Derive the expressions for height and
distance of an object, when object and
instrument stations. are in the same
vertical plane and instrument a>(es are
at different levels.

I

10

Explain the following : 2xg

H Correction for curvature and
refraction.

(tt) Advantages and disadvantages of
plane table surveying.

In running fly-levels from a bench mark
df R.L. 384.705, the following readings
were obtained

From the last position of the instrument
six pegs at 25m interval are to be set
out on a uniformly falling gradient of
1 in 100, the first peg is to have R.L.
of 384'500. Work out the staff readings
required for setting the tops of the pegs
on the given gradient. 10

3. (a)

2

Back sight 3.21 5, 1.030, L.295, 1.955

Fore sight L.225, 3.290, 2.095
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4,

Explain the factors on which the choice
of proper contour interval depends.

5

(c) Explain the various methods of
orienting a plane table. 5

:.

Explain the following methods of plane
table surveying : 2x$

(t) Radiation

(it) Intersectiorl.

With the help of an observation table
explain Reiteration method to determine
horizontal angles. 10

(a) To determine the elevation *of the top of
a buildirg, the following observations
were made : 5

StationsAand Band the top of the building
are in the sarne vertical plane. Find the
elevation of the top of the building, If the
distance between A and B is 100ne

(a)

(b)

5.

Instmment
Station

Reading on

B.M. (m)

tugle of
elevation

Remarks

A L.456 L247', R.L. of
B.M.=250'48OmB r.o52 8"r2',
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What is Indirect ranging ? Write down
the procedure of Indirect ranging.

5
I

What is two-point problem ? How is it
solved ? 10
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